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One side is a canal and one side is a river — X973 X293 717 XO2% X0 717

OVERVIEW

The X713 states if there is a canal on one side of the property and a river on the
other side of the property, the rule is that we divide it among the two brothers X17p2
11, There is a dispute between "1 and the 1" how to interpret this X3,

— NIX VN A19997 N9 XN DA NN TUN NTYW ININ 13%39 Y9
The n''9 explained this to mean a field where (for instance) the river flows from

the east to the north (diagonally) and the canal flows west to south (diagonally) -
— 2% XYY AN PPN

We divide this field »11 X3pa -
— TPNYYT NHAIYN 1PY NN NI 1PN POIIRA NN PPYIN WIT9

Meaning we divide it diagonally from the north east corner to the southwest

corner -
— N1 18 1M) NI TN 1Y 1NN 595 197

So that each one will have on his property on one side a canal and on the other
side a river.

mMdoIN responds to an anticipated difficulty:*
$ND) TN 9P R IN XN TOUNT NI D)

And wherever the river and the canal flows is called X933 717 even if it is more than
one side.’

SUMMARY
The river and the canal bisect the property diagonally (from east to north and from
west to south) and the field is divided diagonally (from northeast to southwest).

!>"»1 interprets the X723 to mean that there was (for instance) a river on the eastern boundary of the property and an
irrigation canal on the northern side of the property. And we divide the field into eight triangular parcels (two
parcels bordering the river and two bordering the canal). See the illustration in >"w".

%93 X317 seems to be a triangle, for both according to *"wA9 and 1" the divided parcels are triangular.

? The one who receives southeast parcel will have the river on the east and the canal on the south; while the one
who receives the northwest parcel will have the river on the north and the canal on the west. See the illustration in
our Madin.

* The x7m) states that the river was on one side and the canal on the other (which fits well according to *"w79);
however according to the "7 both the river and the canal are each on two sides. See footnote # 6.

> Even though the river flows from the east side to the north side of the property and the X7n) states XO) TnX,
nevertheless it (does not mean literally on one side of the field but rather it) is appropriate to say that the river is on
one (northeast) side and the canal is on the other (southwest) side. See w271 n°21 1" 5.
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THINKING IT OVER
1. Why does the 1" not accept >"w1"9?°

2. Do *"wA and the 1" argue X177777

% See footnote # 4 as to the difficulty with "3 w15, See X" .
7 See n'"m.
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